COUGAR

MINING EQUIPMENT @

PRODUCT TECHNICAL BULLETIN 36286
GRADER ARTICULATION - KING PIN RETAINING

Date:
Issue:
Prepared for:

Applicable machines:

REVISION:A

MINING EQUIPMENT®

31-10-2023
A (release)
Industry/ End Users

Graders installed with Bolt in King Pins

Bulletin 36286
12-14 Martin Drive
Tomago 2322

150 3001 02 4028 0400

BUREAU VERITAS
Gertificalion




Background:

This bulletin seeks to notify end users as of a potential hazard relating to the underground grader king
pin joint that is installed on later graders (serial numbers 039 — 044) produced by Cougar Mining
Equipment.

Additionally, Graders originally installed with interference fit pins may have been upgraded to the later
bolted design. This can be identified by the presence of the flanged pin, with counterbored bolts on
the top of the hitch assembily.

Communication:

Where bolted king pin assemblies are not properly torqued and periodically inspected for the correct
tension, bolts may become loose and allow the bottom pin to fall out. Note that both the pin retaining
cap and the King Pin flange bolts must become loose for this failure mode to eventuate.

Proper maintenance and inspection must be carried out at specific intervals as stated below.

Recommendations:

o The top and bottom articulation pins are retained by a series m10 x 45 grade 12.9 Z/P socket
head cap screws. These fasteners are assembled with Loctite 243 and torqued to 81 N-m as
per 7-221646-700 Rev F. CME recommends checking monthly that they remain tight.

Note: due to the use of thread locker they cannot be Torque tested, but only checked
that they remain tight.

e |If aloose boltis found, it should be replaced with a new bolt fitted with Loctite 243 and
Torqued to 81 N-m as per 7-221646-700 Rev F. Do not re-tighten the bolt as the remaining
fatigue life may be reduced. Refer to the images below for details of the fastener
arrangement.

e ltis also important to check the bearing retainers for tightness. This can be done by tapping
the retainers with a hammer or bar. Refer images below and drawing 7-221646-700 Rev F for
details.

o |If the retainers are found to be loose, the articulation needs to be split to access the m8 x 35
grade 12.9 Z/P low head cap screws that fasten them. These fasteners are assembled with
Loctite 243 and torqued to 41 N-m.

Please distribute this bulletin to all relevant personnel

Cougar Mining Equipment Contacts in respect to this bulletin:

Technical Services General Manager Bill Davidson 0409 562 385
Operations Manager NSW Garrad Latham 0407 272 296
Operations Manager QLD Herb Cranston 0411 742 079
Product Support Manager (QLD) Cameron Pike 0428 628 944
Spare Parts Co-ordinator (QLD) Sean Spencer 0466 346 354
Sean.spencer@cougarme.com.au
Spare Parts Manager Greg Davies 0422 025 295

greg.davies@cougarme.com.au

REVISION: A 2-3 36286

; COUGAR
MINING EQUIPMENT® 31/10/2023




Articulation Top King Pin Arrangement

| View From Top

M10 x 45 GR12.9 Z/P. Torque to 81
N-m on assembly. Use loctite 243.

tom on assembl.Use ot 263, =

earing Retainer

——1
''m

Note: Outer
Bolts and
Shim on lower i
. . I Shim  —>
side of top pin P2
are not used
on Grader | |
039-042 — oo\
1
1 M10 x 45 GR12.9 Z/P. Torque to 81
1 N-m on assembly. Use loctite 243.
L
Articulation Bottom King Pin Arrangement
e e = —————— 1
| M10x 45 GR12.92/P. Torque to 81 |
i N-m on assembly. Use loctite 243. o sTEEEEEEEN
v 1 4 Inner bolts only !
L.
| View From Underside |
: Bearing Retainer
P - r
: M10 x 45 GR12.9 Z/P. Torque to 81
1 N-m on assembly. Use loctite 243. |
L
REVISION: A 3-3 36286

COUGAR
; ;m 31/10/2023



N

OTES:

BOLT TORQUES:
- M20 8.8 SNUG TIGHT

- MI6 12.9 TORQUE TO 260Nm
- MIO 12.9 TORQUE TO 8INm (80% of PROOF)
- M8 12,0 TORQUE TO 4INm (80% of PROOF)
" NYLOC NUT GR8 SNUG TIGHT

APPLY LOCTITE 243 TO ALL M8 AND MIO FASTENERS

ADJUST ARTICULATION HARDSTOPS (ITEMS T7-026822-700) BY USING

SHIMMS (7-026823-700) TO ACHIEVE CLOSED CYLINDER PIN CENTRE 700mm

(60% of PROOF)

EXPLODED PICTORIAL VIEW
(N.T.S.)

PICTORIAL VIEW
(N.T.S.)

DRAWN CHECKED APPROVED

o HSE MW E

bATE 14-01-2021 14-01-2021 30/10/2023
F 27/10/2023NOTES UPDATED AH BMD

. SCALES

£ [31/05/2023DCN-21005 SHEET 2 ADDED SHOWING SHIMMING DETAILS, BOM UPDATED AH BMD DO NOT SCALE L PERPENDICULAR ©: ConCENTRICITY THIS DRAWING 1S STRICTLY CONFIDENTIAL AND MUST A R T ‘ C U L AT ‘ ON AS S Y
D [03/03/2023[ARTICULATION CYLINDER PIN CHANGED, T BUSH ADDED MR ‘ F ‘ N DO U B T A S K //: PARALLELISM 47 FLATNESS NOT BE COPIED, REPRODUCED MANUFACTURED OR NTS
< 19-12-2022FASTENER KIT UPDATED TN ’ — : STRAIGHT SUPPLIED FROM WITHOUT PERMISSION OF AME M EC H A N ‘ C AL G R A D E R
B 7-11-2022 [BOM UPDATE AH . © MAX MATERIAL CHECK AME 'S ORDER MATCHES THIS DRAWING
B[ v D ______ w UNINDICATED TOLERANCES TO IS0 286-2; _ OR W1 g ST e 55 Tk e
REV. | DATE DESCRIPTION DRAWN | CHECK. JSI12 FOR MACHINING, JSI4 FOR FABRICATION & £ 0.5 FOR ANGLE A3 SHEET | OF ?

AME

IAN MINING

DRG. No.

7-221646-700

REV.

2 3 4 \ 5

b

8 9

0 \ I

|2



matthew.reggers
Typewritten text
30/10/2023


? 3 4 5 b 7 8 9 \ 1) I 12
A
SEE DETAIL A
|
— ly ||}V 11
i : ,ﬁ{/45/§n
— — g//\
| | %//5\
\ I ‘ % K*//V/
B | aY
Y | O ‘ [T T _ ’ N, -
= % %éill\
© o W00
L ‘ NN _| /
@ ‘ \ I =
]
NN
7 N\
; - %
= i N\~
— m LN
Z ] % ((ﬂ .
- 7774 SEE DETAIL C
) X %/% SECTION -2
SCALE 1:5
m ‘ SEE DETATLD ARTICULATION CYLINDER MOUNT CHASSIS
| T SECTION Y-V (FITTINGS HIDDED FOR CLARITY)
- i \ ‘ SCALE 1:5
| u ARTICULATION CYLINDER MOUNT BEAM
= (FITTINGS HIDDED FOR CLARITY)
E m =
SECTION X-X | # %
SCALE 1:5 | _
ARTICULATION JOINT BE < | |
- (FASTENERS AND FITTINGS HIDDED FOR CLARITY) | o i :
‘ _
! o
=7 — | )
<7 s ! I 5 E[} ©
F i o 7 « ) Y
- = i
% | _a Y
= | =3 }
|~ i ==
! ; 7!2&
| 200
[N IalNS) |
o
G = | | Via\ 207 |
== ; SHIMMING NOTES:
= | - INSTALL CAP AND BOLTS DETAIL €
S= - BOLTS TO BE NIPPED ONLY DETAIL B SCALE |:
— DETAIL A - MEASURE THE GAP SCALE |:2
SCALE || - SELECT SHIMMS TO FORM THICKNESS EQUIVALENT OR
UP TO 0.05mm SMALLER THAN MEASURED GAP o
INSTALL BOLTS AND TORQUE TO 8INm HSE MW s
H pATE [4-01-202 | [4-01-2021 30/10/2023 IA\ME
E g;égjzgiEEKE\ZEEA;EEET2ADI)EI)SHOW\NGSH\MM\NGDETA\LS, BOM UPDATED i: ::ﬁ DO NOT SCALE _L © PERPENDICULAR B© FCLO:‘TCNEENSTSR‘C”Y H1s DRAIKG 1S STRICTLY CONF IDENTIAL AND MUST SCALES ART‘CULAT‘ON ASSY 1AN MINING !
E O‘:/?i/igiﬁig‘ﬁ?ﬂ?ﬁ E:émggw PIN CHANGED, T BUSH ADDED TVLRM ‘ F ‘ N DOUBT , AS K /7 PARALLELISH . STRAIGHT gS;PE\EECDOH(E)ra'WT%ESS?U%EM\géwnggguisg o NTS MECHAN ‘CAL GRADER REV
§ i a1 200 e Easts o PRRTS WAL UNINDICATED TOLERANCES TO IS0 286-2: [oe1] (0 Mg WATARI AT | GG MU S 200ER MATEHES ThLS DRALNG Y ) :
REV DATE DESCRIPTION DRAWN | CHECK. JS1?2 FOR MACH\N\NG, JS14 FOR FABRICATION & + 0.50 FOR ANGLE A3 SHEET 2 OF ? 7221646 700 F
2 3 ] \ 5 \ b \ 1 8 [ \ 10 \ I \ 12



matthew.reggers
Typewritten text
30/10/2023


PARTS LIST

Drawing No:

Description:

Revision No: F

7-221646-700
ARTICULATION ASSY - GRADER

Date Approved: 27/10/2023

Line No Code Rev Description: Unit Quantity
1 7-025093-700 Cc King Pin Articulation Hitch Mechanical Grader Each 1
2 7-025094-700 A Bush Top Pin Articulation Hitch Mechanical Grader Each 1
3 7-025095-700 A Bearing Retainer Articulation Hitch Mechanical Grader Each 2
4 7-025215-700 B Pin Cap Articulation Hitch Mechanical Grader Each 2
5 7-026319-700 A KING PIN HITCH BOTTOM - GRADER Each 1
6 7-026354-700 B ARTICULATION TIE ROD Each 1
7 7-026822-700 A ARTICULATION STOP - GRADER Each 2
8 7-026823-700 A ARTICULATION STOP SHIM SET - GRADER Each 2
9 7-060291-700 B Steering Cylinder Bush Articulation Hitch Each 4
10 7-060559-700 A Articulation Pin T Bush Each 4
11 7-060560-700 A Steer Pin - Grader Each 4
12 7-072695-700 B Articulation Cylinder Mechanical Grader Each 2
13 7-138040-700 B CEust_om Face Lip Seal Articulation Hitch Mechanical Each 4
14 7-180109-763 - Spherical Plain Bearing Od 120 x Id 70 Type Esx-2Ls Each 2
15 7-193655-700 B SHIM SET, ARTICULATION ASSEMBLY GRADER Each 1
200 7-610317-700 B Fastener Kit - Articulation Assembly - Grader Each 1
400 7-630256-700 A Fittings Kit - Articulation Assy Grader Each 1

Australian Mining Equipment Pty Ltd Parts List



PARTS LIST

Drawing No: 7-610317-700

Description: Fastener Kit - Articulation Assembly - Grader A

Revision No: B Date Approved: 1/06/2023 05/06/2023

Line No Code Rev Description: Unit Quantity
201 BM20X8088Z BOLT M20 80 LONG CLASS 8.8 ZINC Each 2
202 NN1C8Z 1 UNC GR.8 Z/P NYLOC NUT Each 4
203 SCM10X45129Z M10 X 45 12.9 Z/P SKT HD CAP SCREW Each 26
204 SCM16X40129Z M16 X 40 12.9 Z/P SKT HD CAP SCREW Each 4
205 SLM8X35129Z M8 X 35 12.9 Z/P SKT LOW HD CAP SCREW Each 16
206 W18Y 1" GR.8 Z/Y FLAT ROUND WASHER Each 4

Australian Mining Equipment Pty Ltd Parts List


benjamin.derooy
Typewritten text
05/06/2023


PARTS LIST

Drawing No:  7-630256-700 (A

Description: Fittings Kit - Articulation Assy Grader 05/06/2023

Revision No: A Date Approved: 8/11/2022

Line No Code Rev Description: Unit Quantity
401 7-187242-702 - ELBOW 90 02BSPTm-07JICm Each 6
402 7-187247-714 - Elbow 90 12JICm-14Unom Each 4
403 7-187363-712 - Tee 12JICm-12JICm-12JICm Each 2

Australian Mining Equipment Pty Ltd Parts List


benjamin.derooy
Typewritten text
05/06/2023


	36286A Product Technical Bulletin - Grader Articulation - Pin Restraint.pdf (p.6-8)
	PM_7-221646-700_RevF_Artic_Assy_Grader.pdf (p.1-5)


